


Resource sheet 5.2A
Writing frame

Use this outline to help you write your account of how UN forces were able to halt the Chinese Spring Offensive.

The Battle of the Imjin River was very important to the outcome of the Korean War because it stopped the Chinese Spring Offensive.

General Peng Dehuai’s aim for the Spring Offensive was

__________________________________________________________________________________________________________________________________________________
_________________________________________________________________________

The area around the Imjin River was an important area for the UNO to defend because 

___________________________________________________________________________________________________________________________________________________________________________________________________________________________

The UNO’s organisation to defend this area was

___________________________________________________________________________________________________________________________________________________________________________________________________________________________



General Peng Dehuai saw gaps in the UNO defensive line. He hoped to
___________________________________________________________________________________________________________________________________________________________________________________________________________________________

The fighting at Imjin was very 

___________________________________________________________________________________________________________________________________________________________________________________________________________________________

The strength of the Chinese Army took the UNO by surprise – for example

___________________________________________________________________________________________________________________________________________________________________________________________________________________________

An interesting event in the battle was

___________________________________________________________________________________________________________________________________________________________________________________________________________________________



The Chinese nearly broke through the UNO lines, but they were stopped by

___________________________________________________________________________________________________________________________________________________________________________________________________________________________

The battle was particularly catastrophic for the Glosters because

___________________________________________________________________________________________________________________________________________________________________________________________________________________________

In the end, the battle resulted in [link back to the question and explain how the Chinese Army’s aims were not met]	Comment by Microsoft account: I think we need to differentiate this auithor comment from the text of the writing frame so I have made blue and not italic

___________________________________________________________________________________________________________________________________________________________________________________________________________________________

This was very important to the overall outcome of the war because 

___________________________________________________________________________________________________________________________________________________________________________________________________________________________
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